% exp6_2.m - 4 5i Gauss KA AT
function try_Gauss_quad

% — /Mol W, P139 {3 4

fun = inline('sin(x)./x');

G = gauss4(fun,0,1)

% [VEVEIf1E = 0.94608307036718301494135331382318

% ----mmmmmmmn VU 5 Gauss SRFLA T - e-
function G = gauss4(fun,a,b)

% [1] TRl x SRR E(BR R w (2817 &), L P1a6 Rk
x = [-0.8611363116; -0.3399810436; 0.3399810436; 0.8611363116];
w =[0.3478548451;  0.6521451549; 0.6521451549; 0.3478548451];

% [2] LEFH I P146 T
t =0.5%(b-a)*x + 0.5*(b+a);

% [3] SRAN
G = w'*feval(fun,t)*(b-a)/2;
%

Op *H ko kK k {f;%;(& sk 3% 3k %k 5k %k k K

% 2% FINFER, 9% 15 Gauss SRAR AT A0 18 i sk %k
% JEE: WAL £(0)?

% I Eie?



